overview for solve timelypractice.com

1. (NC) Solve e.g. f+ 7 =17 (1 stage) (solution is 2 to 15)
2. (NC) Solve e.g. 4f+ 1 = 13 (2 stage) (solution is 2 to 15)

3. (NC) Solve e.g. I +3 = 2 (2 stage) (solution is 0, 1, something.5 or large positive e.g. 42)
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4. (NC) Solve e.g. 5z 4+ 6 = 3z + 14 (z on both sides but only + signs)
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5. (NC) Solve e.g. Tz +4 = —1 (2 stage) (solution is hard fraction e.g. —?)

Q@O To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited



